MTD2FF
TONGUE DOLLY

SAFETY & ASSEMBLY INSTRUCTIONS

Tools Needed To Assemble:

|Part| Description | Qty. |

Adjustable wrench, rubber mallet and needle
nose pliers. A | T-Handle 1
G B | Yolk Assembly 1
C | Carriage Bolts 3/8” 4

B
D | Flange Nut 4
E | Plastic Plug 1” 2
F | Solid Axle 3/4" 1
oH 1 ’J G | Flat-Free Wheel & Tire 2
© H | Washers 3/4” 2
I | Cotter Pins 2
Allese s J | Ball2” 1
i1 &8 e I

cC D

Thank you for purchasing the MTD2FF Tongue Dolly.
For additional product information please visit www.CroftTrailer.com.

{ SAFETY INSTRUCTIONS |-

- Make sure the trailer coupler is secure on
the ball when using the tongue dolly. This
is necessary to keep the trailer attached to
the tongue dolly.

Make sure the trailer is properly chocked
before attaching the trailer to the tongue
dolly. Movement of the trailer before the
coupler is secured could cause injury to
the operator.

- Never attempt to move loaded
trailers with the tongue dolly.
The tongue weight of the
trailer moved should never be
greater than 450 pounds.

www.CroftTrailer.com « 816-861-1001 - Fax 816-861-1881 « Kansas City, MO



{ ASSEMBLY INSTRUCTIONS |-

Step 1.

Attach T-handle [A] to yolk assembly
[B] with four 3/8” carriage bolts [C],
four flange nuts [D]

Step 2.

Insert 3/4” axle [F] into axle sleeve on
yolk assembly [B].

Step 3.
Install wheels [G] (long side of hub

inward) with 3/4” flat washers [H] on
the outside and secure with cotter
pins [l].

Step 4.

Install 2" ball [J] to yolk assembly
[B] through the hole and
tighten securely.

Step 5.

Install plastic plugs [E] into
T-handle [A]. Your MTD2FF is now
ready to use.

R

www.CroftTrailer.com « 816-861-1001 - Fax 816-861-1881 « Kansas City, MO



